Regression Worksheet:

Consider the following data, listing years of schooling for a respondent of a survey and his or her father. We want to determine if there is a linear relation between the variables and use the least-square regression line to make predictions. 
	Highest year of school completed, father
	Highest year of school completed
	
	
	

	12
	12


	
	
	

	15
	16


	
	
	

	5
	7

	
	
	

	16
	19


	
	
	


Compute the correlation coefficient r and the equation of the least-square regression line y= mx + b. Recall the corresponding formulas:
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Draw a scatter plot for the above data and draw a regression line “by hand”. Compare your line with the equation you obtained earlier. Is there a match? Does the value of the correlation coefficient make sense? Explain.
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Predict the years of school for a person whose father has completed 18 years of schooling? Do you think your prediction is reasonably accurate? Why or why not?
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